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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Ffafea & 9 a9-9 fTem @ 98
fagwar 7 & ?
(1) fawma & oRads @xar @
() T T waa e |
A HEwEqel T &
(3)?25@1@25 Yo @A e

(@?ﬁﬁﬂﬁ%ﬂﬁﬂ%ﬁﬂmsﬁ

2. frefatad § & -4 &l & A9
=g v fafy & 7
(1) T i Feheiehl
(2) usEEt
(3) ¥% fee

(4) rEEh R

3. ‘T YT B STER 1 B © ¢
(1) | GRS
(2) X Ui
(3) ST (1) T (2)
(4) SR | q B el

4. Frefatad & | dH-G6F 9T &) Jed
sl fame yhR e i L
78 &7
(1) FATHbE
(2) STSMaT!

(3) I Wd F Sifah HEES
T

(4) T ® MR W S & 9T
S g

Level-3/9221

1.

3.

4.

Which of the following is not the
true characteristic of Development ?
(1) Development involves changes
(2) Early Development is more
critical than later development

(3) Development Patterns

unpredictable

are

(4) There are individual differences
in development

Which of the following is indirect
method of measurement of motives ?

(1) Sentence completion technique
(2) Questionnaire

(3) Checklist

(4) Interview

What are the basis of 'Self Concept' ?
(1) Social Roles

(2) The Body Image

(3) Above (1) and (2)

(4) None of the above

Which of the following is not the

characteristic of introverted thinking

type personality as given by Jung ?

(1) Self Centered

(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

P.T.O.



[A]

16 a4 &% AY % A= H R
SRTRT foerer &1 STl & ?

(1) 750 I & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 719 & 1200 7H
(4) 800 IH & 1000 IH

-4 FASE A AT IR
e it & Qafes 99 @
JeM+h &7 @ faae Teqa fom o ?
(1) it

(2) §Ft Tos &ve

(3) s

(4) X WG9 TMees

frefofeg & @ H9-91 T9@ENN &=
el qe § 7

(1) T4

(2) g

(3) YRR T SR
(4) gERHTT

frefofeg & @ #9-d
PRt d g QU T A
R & SUY @ed WX &

SR B 7

(1) T9€ TG STRHINT

(2) gmIiSTh STIeY

(3) ST TEHI/STBT Tshl
(4) FA AR IS e

134

Level-3/9221

[4]

. Which

. What is the approximate weight of

the Brain upto 16 year age ?
(1) 750 gm to 900 gm

(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm
(4) 800 gm to 1000 gm

Psychologist ~ presented
scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport

(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton

. Which of the following is Direct

Method of Adjustment ?

(1) Repression

(2) Regression

(3) Withdrawl and Submissiveness

(4) Rationalization

. Which of the following orientation

falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order



10.

11.

12.

13.

fr=ifeifeg & @ H9-di fheRrEn &l
faQrar 782 ?

(1) GameHs ReRan
) R g g
(3) Fa9™T &I =

(4) g G i Ae

ST M AT B B HIT TR
ﬁmﬁﬁaﬁsﬁ%aﬁ@@w
TfeT, FHedAld &

(1) foegaey faeere
(2) ol fren wEwT (IEP)

(3) APRIAHE L

(4) 9T &Y

frafofea & & #=-w1 ot wfq &

qer FET e 7

(1) e

(2) NEd arer

(3) &

(4) 98 ERE & G g W SR
HET

Frefefad & | ®iF-a1 G99 9T
& dMIe oM Rera 8 g
e ?

(1) HisfeiT

(2) AFHT

(3) SR

(4) MBS SARFH
aﬁ—eﬁr?ranﬁﬁasna—vr%aﬂww

AUNHT B WA GY T TUSHIG
Rl & A U ¥ AR § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Level-3/9221

[5]

10.

11.

12.

13.

[A]

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability

(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills

that student should master after

instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

Which of the following is not the

symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not
related with  Bandura's  Social
Learning Theory ?

(1) Modeling

(2) Adaptation

(3) Imitation

(4) Observational learning

What is the ranking ratio given by

Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

P.T.O.



[A]

14

15.

16.

17.

18.

. R F AR ‘A e
%l el e -G e ?

(1) aRe™ BErar g9 g9
(2) 9BdM SFM Yo Hifel
(3) Fmedr aM faeT

(4) I g9H ReRar

Frefafed & & aF-w fowe a@
Yo GoTTeTRdl B O 787 & ¢

(1) et (2) STHaA

(3) T (4) A
frefefeg & @ @®9-a1 ofrm &
gITCeh TMTROT & YR 7e & ?
(1) II9d TR

(2) HiHEH R

(3) BifeeT =

(4) I SRR

Frefefed & @ &9-d1 BEs &1
Ue TR ST J87 8 ?

(1) QAgTEEeT

(2) T@E ST

(3) TETEET

(4) EmEeE

e ®Er & ‘“oMifee Shifed
Sig-SJall & X & G s
g ?

(1) &X fafead Aepg

(2) 9 WifeE e

(3) Ao TEEHEY

(4) faferm si=

Level-3/9221

[6]

14.

15.

16.

17.

18.

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation

Which of the following is not the
element of creativity as given by
Guilford ?

(1) Fluency
(3) Flexibility

(2) Incubation

(4) Originality
Which of the following is not the
type of positive transfer of learning ?
(1) Lateral transfer

(2) Sequential transfer

(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage

(2) Autonomy stage

(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures"” ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James



19.

20.

21,

22,

fr=ifoifeg & | S9-a1 e a=fem
T o o gl fafr 787 2 ?

(1) a9 gRecs & & srear dimr
# fafy

(2) R SEue i fafy
(3) Jraa sfe@T AT e H
(4) =T ARy & aRersH

@ FM & WY, A T
YAETeH & SR & & T SR
3 g8 feied d | fees gies

B TATT e 8 °
(1) = (2) AR
(3) WIS (4) 93T

U SO & e A o it
P WA G de F Tgaad D,
B9 H Sgaed Bedd, U9 @
SgaeH U9 I HA 4 el 7 Ae|
T SgaET el § AeHE S A
TE fhH THN & HARFH MR 6
JEEI B 7

(1) ST ST

(2) FMHE T

(3) g AR

(4) S S

Level-3/9221
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19.

20.

21,

22,

[A]

Which of the following is not the

type of "Psychophysical Method" of

study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by
transforming, organizing and
re-organizing previous knowledge.'
This best explains the idea of which
of the following ?
(1) Piaget

(3) Freud

(2) Vygotsky
(4) Bandura

According to the  Cognitive
Development Theory of Piaget, "The
basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation
(3) Accommodation
(4) Equilibration

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer

(2) Negative transfer

(3) Zero transfer

(4) Vertical transfer

P.T.O.



[A]

23. fFefofad & @ d9-@1 SEU &

Ty /T faRe § 7
(1) AR

(2) ITed

(3) fomma

(4) TET I Ity

24. X BN SloUled  “UERE =E
Rt A K | s G B TR o1 A e et o B

deft 7

(1) it o1 Res=t

(2) 9 T JhR s
(3) UK f¥gT=

(4) AAaeATTeh e

25. fSeffad & & H9-91 ‘99W AFRS
e gl H e Al TR © 7

(1) 52 & 67
() 36 9 51
(3) 20 ¥ 35
(4) 20 § =

26. Ffofad § & HHE-81 TSR
Yo afdde [ 8g offes Al
TER &l T ?

(1) e ergy
(2) AEHE TEW
(3) fompeHt ergy
(4) TEEHL MEA S e ST

Level-3/9221

[8]

23.

24.

25.

26.

Which of the following is objective
determinants of Attention ?

(1) Interest

(2) Habit

(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception
Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following is 1.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
type of life styles for the
development of personality given by
Adler ?

(1) Lazy type

(2) Ruling type

(3) Go-getting type
(4) Escaping type



27.

28.

29.

30.

Ao @@ g1 qhee § feew wiE
@ & fw o 8 ?

(1) 10

2) 12

(3) 15

(4) 28

Freifafad & @ @F-a1 9l & gie
9 @] 3 R ™ atka &7
JhR TET 8 ?

(1) Jsrt<as
(2) omfidie
(3) FHATTE

(4) el

frafafag & 4 sF-a1 dHSES 3™
Ue STRRTH T MoT/Herdsh a9 & ?

(1) deaXa &1 e
(2) IHE F |
(3) "R ght &1 FEH
(4) U9 H |

frfofag & @ d9-o feaimaeen &t

T8l faQuar 7&f e ?

(1) fpaaeen ST AR
%mww%ﬁaa%qﬁa?ﬁaw
|

(2) fpaivaen # wH ST RIS
feafy Bt 1

(3) fraiaen JgEEET 1 &
B B

(4) FRINEEN  grdiGaett @ {HY
B B

27.

28.

29.

30.

[A]

How many cards are wused in
Rorschach Inkblot Test ?

(1) 10

2) 12

3) 15

4) 28

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise
(3) Law of mental set
(4) Law of effect

Which of the following is not the

true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood and
adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9221

P.T.O.



[A] [10]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9221




[11] [A]

39. 9N F 3fc q oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) FI¥T - BT TgE (1) ferdiesr
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEFQE3€[§WQ i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) TREl %1 & =TI oW el g .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ©) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) T8 o9 R @ § - i &7
, S (1) e
41. ANREd GEAEES :
, (2) g
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) Gt & dhrgr-a T9F e (4) ST

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9221 P.T.O.
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46.

47.

48.

[12]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to Who ...... was coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting .
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9221

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)



53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[13]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9221 T 0.
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[14]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Th HT AW H, 'DISTANCE'
'IDTATOEC' fer smr 2 &R
'DOCUMENT' @& 'ODDMUFTN'
forn S B, @ 3 9 e A g,
'THURSDAY' &t for@n s :

(1) HTRUDSYA

(2) HTVSREYA

(3) UHVSTEYA

(4) VIRUDSZB

FAG 10 HeX I B AN F@@l 2
Il ¥, T8 IR B R 6 HeX T
3l Y a8 q@ &t ofX 3 X =
3l T A JEANT fg & Hew d
P Ram A 8 ?
(1) uf3=™

(2) SRT-uiEd
(3) -

(4) =@

yqq a¥ § % Aa
# gha & S T
5% ' HH B S Bl AR
IV H SWEEr 79,800 o,
g H OMCH § HGE

(1) 79,800
(2) 80,200
(3) 80,000
(4) 79,600

Level-3/9221

61.

62.

63.

In a code language, 'DISTANCE' is
written as 'IDTATOEC' and
'DOCUMENT"' is  written  as
'ODDMUEFTN', then in same code
language, 'THURSDAY' will be
written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600



64.

65.

66.

67.

68.

69.

70.

i M (o e S | G L L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

& Fe A Bt 2 3 3 o &

(1) 27: 20
(3) 4:9

(2) 20:27
4) 9:

(2) &=

(3) 9fa (4) |gx

qul H HH S&d (SN qT U a9
H TH T W B
'HEARTLESS' ffa @@= drdfe g<af
§ fomfora feam o g & °

(D1 (2) 2

3) 3 “4) 4

s W ¥ 27% faerft oReh #
I gU AR 38% fasme # orwt
W, A 19% I R F ergw
g, @ 2T fawdt & S B gfed ©
(1) 46% (2) 54%

(3) 62% 4) 81%

fr=1 g Aoft & o wE F

20, 20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 (2) 10, 11
(3) 13, 14 4) 10,9
TF Al 90 » QUi f&em 7 13
fpt o e @ Rew & 28 ol W@
I &Y B 9R 5 HS &H W Al
B U T o ?
(1) 1v5 st /99er (2) 2 fHt /g0er
(3) 2V4 fpHt /g9er (4) 3 At /g0eT
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64.

65.

66.

67.

68.

69.

70.

[A]

Find the wrong terms of the

following series :

1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R
The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :
(1) 27:20 (2) 20:27
3)4:9 4 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father (2) Grandfather
(3) Husband (4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?
(11 (2) 2
3) 3 4) 4
In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46% (2) 54%
3) 62% 4) 81%
Next terms of the following number
series are :

20, 20, 19, 16,17, 13, 14, 11, 2, ?
(1) 10,10 (2) 10,11
3) 13,14 4) 10,9
A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?
(1) 1¥2 km/hr
(3) 2% km/hr

(2) 2 km/hr
(4) 3 km/hr

P.T.O.
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71

72.

73.

74.

75.

76.

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet 9X 3 e ® °

() 19 (2) 11 (3) 20 (4) 21

A, B Sgrg s&e C XD, E @
REEAMCHTIA T & &R
C,BA g g a = & & -4
HIT TETH &9 ¥ FT R ?

(1) A, C q 93T 8l

(2) C,D ¥ g1

(3) D,C q 921 2l

(4) E,B ¥ g1

M, T, R, K X D & ud% &I @9
AT E, M dad T @ 87 3 X D
A K § @1 81 31 9 d9u asd
T AT B B 7

(T @D B)M @R

BES)

- ~ & qY S B
3 1
[
4 3
11 1
M 2 @) 2=
11 1
3) 35 4) 3§
e q qgeq, o @ ey SEd o
F oMy H R B a= ad g,
fUer & g I8 T B Ag W 7
T i R @ g oy @
(1) 40 g (2) 3094
(3) 50 a (4) 4579

qide fRem @ R B IR IET B
frg Remd & ?
(2) aferor

(1) T
(3) uie=m 4
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71.

72.

73.

74.

75.

76.

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?

(H 19 2) 11 3) 20 @) 21

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.

(2) CiseldertoD.

(3) Diselderto C.

(4) Eiselder to B.

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?

IO T @D 3 M 4R

HEC)
BED)

The square root of

is equal to :
11 1
1) 2— 2) 2—
(D D (2) 5
11 1
3) 3— 4) 3—
3) B “4) B

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years (2) 30 years
(3) 50 years (4) 45 years
A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East



78.

79.

80.

81.

82.

(1) 15 o & 918
(2) 12 o & 91
(3) 14 o & 918
4) 16 o & 9%

10% aiffes &9 & W Srsdial
ThlE BT X 800 BUY H TH T
926.10 &9 fhaw a¥ & s A ?

(1) 39 ) 1 a9

(3) 4v» a9 4) 2 a9

8, 15 aX 24 ¥ fauig am am
A T HE R B

(1) 120 (2) 1800

(3) 3600 (4) 6400

I 6 YT A f9hT gd, 8 Al & A

g%w%,a‘rwmﬁrrﬁm

(1) 25% @ (2) 25% &=

(3) 33%%31% 4) 33%%@1
AT % W Ted 68 W9 oM
RN & A (STeE) B & 7

(1) fepra I

(2) T G

(3) Glo A= @

(4) dlo dio THo o YA

BRATT 3G STHEH & ST D © 7
(1) M= TR

(2) HP& q8q

(3) =X P

4) QI 9
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77.

78.

79.

80.

81.

82.

[A]

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes

In how many years will a sum of
Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?
(1) 3 years (2) 1%z years

(3) 4Y2 years (4) 2 years

The least square number, which is
divisible by 8, 15 and 24 is equal to :

(1) 120 (2) 1800
(3) 3600 (4) 6400

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit  (2) 25% loss

(3) 33 % % loss (4) 33 % % profit

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang
(2) Kumud Bansal

(3) Chander Trikha
(4) Suraj Bhan

P.T.O.



[A]
83

84.

85.

86.

87.

88.

89.

90.

. BREem ¥ W @He @ Hed el
arafted § 7
(1) ®UEEE (2) aQNTa
(3) &I (4) T®
HTaeT Gdl § W@ Ysh foerdr @l
BRI TR &N &l S arl JOeRe
i 2
(1) & *3g
(2) & Fg
(3) TEER @
(4) 3% g

1857 % fomle & 3N Asas &M
foreedier @I o ?

(1) 99 R (2) s=go $89
3) TeH A (4) BB

g T, S % T g ©
(1) AT (2) afee

(3) A& 4) 3=

‘TeFpy @ RO & B9 N H
Reg 2 7

(1) JeT% (2) deg

(3) HEIA (4) DT

R fagraT, S st 2019 &
A B 9 e H W R

(1) 124t (2) 134t

(3) 144t (4) 154t

M BMe @ B & H fhE TS
@R § T 6 T 8 7

(1) ZTEE e

(2) TS TS

(3) elE T T T S1as

(4) HME< e

fre 9T & IR AW & or ?

(1) "e=TTe
(3) HIA

(2) ST
(4) GFg
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83.

84.

85.

86.

87.

88.

89.

90.

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat
(3) Gurugram (4) Rohtak
The award is given by the Haryana

Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton (2) W. Eden
(3) Adam Loch (4) Hudson

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang (2) Sahibi
(3) Dohan (4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak (2) Panchkula

(3) Karnal (4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12% (2) 13"

(3) 14" 4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh (2) Ambala

(3) Kaithal (4) Sonipat

Level-3/9221
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[A]

AT - IV / PART - IV
20 |Eq / COMPUTER SCIENCE

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

SQL #ad X damee omee &l =
T § fopad csmar T B ?

(1) DDL (2) DML

(3) HTML (4) XML

HTML (SBW IRT AHSTY HI) H
yrefees fomtar &= a1 ?

DESES ) fer 99 &
(3) T (4) YieX deS

HTML 39 &est § sfadl sed &
fo 6 7 1 SUFNT fhar ST B 7

(1) picture (2) pic

(3) img (4) src

HY TAHT § 8F & Jfed |
Frae & o @& e @ 8 ?

(D= I ® A g Jfedr e
|

Q) Far 3= @ oo B B B
PR FE S B

(3) et w e B 2fNE ST H@
fee B

@) 59 @ B JT &, q B W
SiedT =feu|

HTML Sfgie & & &7 & 99 F

g7
(1) HTML

(3) TITLE

(2) BODY
(4) HEAD
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o1.

92.

93.

94.

95.

SQL query and modification
commands are represented in which
of the following ?
(1) DDL

(3) HTML

(2) DML
(4) XML

Primary author of HTML (Hyper
Text Markup Language) is ?

(1) Brendan Eich (2) Tim Bemers-Lee
(3) Google (4) Peter Norton
What tag is used for adding Images
to HTML Web Documents ?

(1) picture (2) pic

(3) img (4) src

What is the right approach to deal

with student errors in computer
programming ?

(1) There should be zero errors even
at stage L.

(2) Having errors means student
does not know programming.

(3) Errors are part of a
programmer's daily life.
(4) Should scold the student

whenever there is an error.

The root tag in HTML document is
called :

(1) HTML
(3) TITLE

(2) BODY
(4) HEAD

P.T.O.



[A]

96.

97

98.

99.

100.

U9 U UfaRdiEe § qodE |ied S
§ pE-Al GO T R WS
qfeferd Ham ?

(1) Cul+N  (2) Cul+M

(3) Ctrl + S (4) q= | |

Frfoied & @ ®F-a1 9eds 3ee
& HA Al Tedl Aeash HET Sl
g7

(1) ARPANET (2) UUCPNET
(3) AOL (4) PTRINET

C++ 3 Hd &, 9 & aF-@1 &

SR w8 ?

(1) % &9 #H B &9 Ged 39
T B GE BRM Bl B

(2) ®few e T H A9 T I]
IEEA T b % URaid el
fopT ST bl

(3) Th FE F WEH T TS
P SH FTE B WeH &
BTRM BN & 9 A S
Tl Bl

(4) Th FIH g private, protected
qd public Hagd el A |
aen fheet off IR o T E

Freffad & & $F dfaxdiEse & & |

q0% 7@ e 7

(1) &S a1 F

(2) uRew (AR )
(3) T H q (T Hiep)
(4) ot aferen (fedior )
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96.

97.

98.

99.

100.

Which key combination shall insert
a new slide in current presentation in
MS PowerPoint ?
(1) Cul +N
(3) Cul+S

(2) Cul+ M
(4) All of the three

Which of the following networks is
considered as the first network that

initiated the internet ?
(1) ARPANET (2) UUCPNET
(3) AOL (4) PTRINET

In context of C++, which of the
following is valid statement ?

(1) Friend function of class is
always a member function of
that class.

(2) Value of static data member
cannot be manipulated once
assigned.

(3) Static data member of a class
can be accessed only by static
member function of that class.

(4) Keywords private, protected and
public may appear in any order
and any number of times in a
class.

Which of the following is not one of
PowerPoint's views ?

(1) Slide show view

(2) Slide view

(3) Presentation view

(4) Outline view

In MS Excel, creating resulting
'what-if' conditions based on several
uncertain future conditions is called :
(1) Pivot table

(2) Scenario

(3) Goal seek

(4) Decision Table



101.

102.

103.

104.

105.

106.

%m%mwmﬁ

9 59 o= &1 SUERT fRar ST B ?

(1) ST MapeX (2) Aerbd

(3) ™A (4) gIANTA

e U39 ©

(1) IPv6 UgH & argared IPv4 ugd

(2) IPTSH T e U39 H Gao

(3) MAC TgH T S Tgd &
G

(4) TR WX Tgd

DBMS H W9 ®HE d9-a7 oA
Fees & QU &1 &, @ I8 &l
S

(1) Saved (2) Loaded

(3) Rolled (4) Committed

RAsFa Seeg RomET & o -
g ®Y g AT A 7

(1) 1 NF
(3) 3NF

(2) 2 NF
(4) 4 NF
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101.

102.

103.

104.

105.

106.

[A]

Which  of the following is
responsible for extending commands
to Arithmetic Logic Unit of a
computer ?

(1) Primary memory

(2) Control Unit

(3) External Memory
(4) Cache Memory

Which of the following refers to the
correctness and completeness of the
data in a database ?

(1) Data security
(2) Data integrity
(3) Data constraint

(4) Data independence

Which of the following terms is used
to represent "a set of rules" in
computer networks ?

(1) Resource locator (2) Protocol
(3) Domain (4) URL

Socket address is :

(1) IPv4 address translated to IPv6
address

(2) Combination of IP address and
port address

(3) Combination of MAC address
and domain address

(4) Application layer address

In DBMS when a transaction
completes its execution it is said to
be :

(1) Saved
(3) Rolled

(2) Loaded
(4) Committed

Which database normal form 1s
considered satisfactory for relational
database design ?
(1) 1 NF
(3) 3NF

(2) 2 NF
(4) 4 NF
P.T.O.
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107.

108.

109.

110.

111.

112.

fr9 4§ HTML @ @ & & ?

(I) URL (2) TCP/IP

(3) SGML (4) XML

SQL SELECT ®a#He &% gRvH 2 :
(1) Izt (2) et

3) Raé (4) wo

T 3TEE Y§E Jome (DBMS) ® -

(1) WER Hefyd e & §98
(2) 3 % g & I FHEFA H
e

(3) UH 999 Y H IO HA Al
3T FH AT

(4) I | 9

OCR & 7 & :

(1) Online Character Rendering

(2) Optical Character Recognition
(3) Online Character Restoration
(4) Optical Character Re-organization

@ o H, dE R gEE (99,

yS) & I & IWT B H oW

el Riced | 8 7

(1) printf("%d%d", book.price, book.
page);

(2) printf("%d%d", price.book, page.
book);

(3) printf("%d%d", price::book, page ::
book);

(4) printf("%d%d", price->book,
page->book);

frefofeg & @ f9-@1 S o
qEE 99 W AVGR JERd B B
feTw IuaT foRar ST ® °

(1) HTT (2) HPP

(3) HTTP (4) HPPT
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107.

108.

109.

110.

111.

112.

From which of the following is
HTML derived ?

(1) URL (2) TCP/1P

(3) SGML (4) XML

The outcome of a SQL SELECT
statement is a :
(1) File

(3) Report

(2) Table
(4) Form

A Database Management System
(DBMYS) is :
(1) Collection of interrelated data

(2) Collection of programs to access
data

(3) Collection of data describing one
particular enterprise

(4) All of the three

OCR stands for :

(1) Online Character Rendering

(2) Optical Character Recognition
(3) Online Character Restoration
(4) Optical Character Re-organization

In C program, what is the right

syntax to access value of structure

variable book {price, page}?

(1) printf("%d%d", book.price, book.
page);

(2) printf("%d%d", price.book, page.
book);

(3) printf("%d%d", price::book, page ::
book);

(4) printf("%d%d", price->book,
page->book);

Which of the following protocol

used to transmit information on the

World Wide Web ?

(1) HTT (2) HPP

(3) HTTP (4) HPPT



113.

114.

115.

116.

117.

Freifofad & @ @9-a1 999 o
T R 9 a2 R R
S ST & TIIReA &l /A & &
fom & ?

(1) T BefiRe o

(1) Greedy BFS

(2) Divide and Conquer
(3) Heuristic BFS

(4) Combinatorial

@ & g Reehet ok R
B RS B B R A g
TS BT IYART fpam S & °

(1) Alt+M

(2) Shift+M

(3) Windows Key + M

4) Ctrl +D

FYEX T TeIC & T_H | o |
H A H YA R

(1) Code Red

(2) Melissa

(3) ILOVE YOU

(4) Comodo

fPel @AY § T 99 @
< @ & fau e {6
S B HE T B

(1) wEsX

(2) rarE

(3) feml

(4) IO P S HA Al

o

[cHn

EIS|

d%
S|

Level-3/9221

[23]

113.

114.

115.

116.

117.

[A]

Which of the following is the most
commonly used data structure for
implementing Dijkstra's Algorithm ?

(1) Max priority queue
(2) Stack

(3) Circular queue

(4) Min priority queue

Which type of best first search
algorithm was used to predict the
closeness of the end of path and its
solution ?

(1) Greedy BFS

(2) Divide and Conquer

(3) Heuristic BFS

(4) Combinatorial

Which key combination is pressed
simultaneously to minimize all the
currently open windows on your
desktop ?

(1) Alt+M

(2) Shift+M

(3) Windows Key + M

4) Cul +D

In the context of computers and
internet, choose the odd one out
from the following :

(I) Code Red

(2) Melissa

(3) ILOVE YOU

(4) Comodo

Which tool do we use to find a
similar or alternative word in a MS-
Word document ?

(1) Finder

(2) Thesaurus

(3) Dictionary

(4) Grammar checker

P.T.O.
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118.

119.

120.

121.

122.

Microsoft Windows @&l SH-d1 g%
T o feew Afdw @ 3R R FEam
P! & UG BT & 7

OESREE]

(2) URH e

(3) [ dfaR|

(4) HHiE UF<
?WWWWWWW
?

(1) A% R

(2) 9% T ST

(3) 9 St eReET

(4) SeuRr R

Ol AT 1 T {9 el S § 7

(1) =TT Eey

(2) Sfr| Rl

(3) 9 To TMEIT

(4) 2o 2o Tho T
“grgel Hl Tgd qd el |
q e 7= 9ok § et a1l & 7
(1) & O T ST AhINEER

(2) 99HgH oS
(3) SIS

4) giferex

Tq TH A H, [t gRem o
P d MU & FgETT H
THENNTG & HeT ol

(1) &g i qansr (e i)
(2) =T

(3) g (i)

(4) e
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118.

119.

120.

121.

122.

Which is the component of
Microsoft Windows that provides the
ability to view and change system
settings ?

(1) Control panel

(2) Start button

(3) Windows Powershell

(4) Command prompt

What is the alternate name for white
box testing ?

(1) Graph Testing

(2) Basic Path Testing

(3) Glass Box Testing

(4) Dataflow Testing

Who is known as the father of
C Language ?

(1) Bjarne Stroustrup

(2) Dennis Ritchie

(3) James A. Gosling

(4) Dr. E. F. Codd

The key processing component of
"Fourth  generation  computers"
comprise of which of the following ?
(1) VLSI Microprocessor

(2) Vacuum Tubes

(3) Diodes
(4) Transistors

In MS Excel, fine-tuning an input
value to acquire precise outcome is
called :

(1) Goal seek
(2) Charting
(3) Sorting
(4) Validation



123.

124.

125.

126.

127.

128.

1 § @ P9-T1 FiS ZeNnH STFAIR
W e ofRfen foew & fou
SYENT foa e ® 7

(1) A Heier §eXhd

(2) FHIS BT I BH

(3) TithebeT o §eThY

(4) 3MgHT LB

fr=r 9 9 foeeer ST SQL | dfear
H A H B fow b Stwar ® 7

(1) SORTBY (2) ALIGNBY
(3) ORDERBY (4) GROUPBY

L | N G | 57 I E L | D
HEIUEH B & 7

TNE ¥ T e oiX Sua g
3 H e & fom d9-Er SQL
T BN ITINT fhar T B 7

(1) Create Table (2) Alter Table
(3) Drop Table (4) q=t # dE Tl

It Red  S-oa Jidie| @
ST AT 8, A & FgeX Reed &t
Wed & U PF-a feamw @
AT Bt B 7

(1) Repeater (2) Gateway

(3) Bridge (4) Hub

DBMS 8@ & ACID 7 &7 8 ?

(1) Atomicity, Consistency,
Isolation, Database

(2) Atomicity,
Isolation, Durability

(3) Atomicity, Consistency,
Inconsistent, Durability

(4) Automatically, Concurrency,
Isolation, Durability

Consistency,
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123.

124.

125.

126.

127.

128.

[A]

Which of the following command
interface is normally used for
windows operating system ?

(1) Menu driven interface

(2) Command line interface

(3) Graphical user interface

(4) Icon interface

Which one of the following is used
to sort rows in SQL ?

(1) SORTBY (2) ALIGNBY
(3) ORDERBY (4) GROUPBY

Who is the founder of Facebook
social networking website ?

(1) Bill Gates

(2) Mark Zuckerberg

(3) Martin Cooper

(4) Orkut Buyukkokten

Which SQL Query is used to remove
a table and all its data from the
database ?

(1) Create Table (2) Alter Table
(3) Drop Table (4) None of three

Which device is needed to connect
two computer systems, if the systems
use different protocols ?

(1) Repeater (2) Gateway
(3) Bridge (4) Hub

What is ACID properties of DBMS

Transactions ?

(1) Atomicity,
Isolation, Database

(2) Atomicity,
Isolation, Durability

(3) Atomicity, Consistency,
Inconsistent, Durability

(4) Automatically, Concurrency,
Isolation, Durability

Consistency,

Consistency,

P.T.O.
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129

130

131

132.

fr=ifeifeg & @ $9-91 9= e @
g ST 9 7 7

(1) Teh iR H=X qomeit
(2) TH HURE FEIX JOMAl
(3) ARG TER H FEAX Jomat
(4) IR B TH I97 A<

FG T ® [T QM R S
Il A= SN IR W Fed &l
T T Afie 89 T T ARG @
R Siedl © ¢

(1) LAN (2) WAN

(3) MAN (4) BAN

frfofag & @ &9 % 39 TRy
famer giorn 78 ?

(1) T HEEA & FAIAT HA & Tod
el Gl BBl

(2) |l @ fafiee w7 & e |
A FW A Ued oy &
Uhled HH Gl A GHEA &
HINY T A

3) &l d EHEE B SN B &
SIE HEET B SAPAT T B

(4) PO ¥ T ofgag SR @l
TS GHEE SAEied fHT S
EBCDIC &l 319 8 :

(1) THEces T4 Hies  SHEA
g Bl

(2) TEdsE  fqw Bl SN
FeXHaIH HIE

(3) THRdes  fae  FH  sHEd
ZeXHasH DS

(4) TFECes SN0 B9 SHEd
e
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129.

130.

131.

132.

Which of the following is the best
description of the word internet ?

(1) a  personal communication
system

(2) a corporate = communication
system

(3) Indian Government communication
system

(4) alarge network of networks

Which of the following term is used
for a computer network that typically
connects personal computers within
a limited geographical area, usually
within a single building ?

(1) LAN (2) WAN

(3) MAN (4) BAN

Which of the following is not a valid
deadlock prevention scheme ?

(1) Release all resources
requesting a new resource.

before

(2) Number the resources uniquely
and never request a lower
numbered resource than the last
one requested.

(3) Never request a resource after
releasing any resource.

(4) Request and all required
resources be allocated before
execution.

EBCDIC stands for :

(1) Extended Binary Coded Decimal
Interchange Code

(2) Extended Bit Code
Interconversion Code

(3) Extended Bit Case Decimal
Interconversion Code

(4) Extended Binary Case Decimal
Interchange Code

Decimal



133.

134.

135.

136.

137.

I NAND ¢ & @9l $Y¢ TF a1
I3 & §, ar uRem Efee
.............. l
(1) R e
(2) U8 e
(3) e T

(4) A9 F @ g f T

frefofeg & @ ®9-91 C++ § 999
R Hag 7 & ?

(1) explicit
(2) public

(3) implicit
(4) private

frfafeq & 9

Hrgex frew @

g7

(1) 999 F qreat

(2) T8 EHER BT &
zaw faeme @ fF Rl @ <
a1 WYl 9 e e e ©

(3) 9l 7ERd

4) MTER

e ® 9=H §,
T & AR SUENERAISA H A
T B A G99 AR B H A
q gefa B

(1) Amazon (2) Net Neutrality
(3) Netiquette (4) eQuality

afpg fiSr @ aftepam @1 geReifia
& [T MS-Word ¥ g El\gTrﬁ
TS 1 SUART 6T ST |ebell © 7

() Ctrl+F7  (2) Ctrl + F8
(3) Ctrl +F9  (4) Ctrl + F10

HE-AT Th
a9 wEAgel
Rl CIY
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133.

134.

135.

136.

137.

[A]

If all the inputs of a NAND gate are
connected  together then  the
consequential circuitis .............. .
(1) NOR gate

(2) AND gate

(3) NOT gate

(4) None of the three

Which one of the following is not a
valid reserved keyword in C++ ?

(1) explicit
(2) public

(3) implicit
(4) private

Which one of the following is the

most important quality of a good

computer teacher ?

(1) Punctuality

(2) Accepting that computer field is
so vast that noboby can have
complete or perfect knowledge

(3) Content mastery

(4) Sociable

In context of internet,
deals with rules of framing messages
that will not hurt orther users of
internet.

(1) Amazon
(3) Netiquette

(2) Net Neutrality
(4) eQuality

Which Key combinantion can be
used in MS-Word to maximize or
restore a selected active window ?
(1) Ctrl + F7 (2) Ctrl + F8

3) Ctrl + F9 (4) Ctrl + F10

P.T.O.
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138.

139.

140.

141.

MS-Word #, Faf aof &l guiRshe
FH B U BHE gEASE @ SwEm
fopar e B ?

(1) Ctrl + =

(2) Ctrl + Shift + =

(3) Alt + Ctrl + Shift + =

(4) A 7 | B3 T

MS-Excel ¥, o9 @WH # AR A

SeM & e = # | feue @i

Tha & a7 So9-[Fh B Hhd & 7

(1) | digex

(2) HITH HADBT

(3) o g

(4) ®H SR

Freifafaad & & @M@ & o8

IR D LG | GEOC T MG | B G IS C

(SRSD) # qifq 7&f & ?

(1) 9 P &
TNTREA

(2) R-FETES AEFHAT

(3) FEF AEHAT

(4) AT & q>

Ak T UREE IR @ SRS

ey ¥ dehld &N a9 @l STasasal
g, @ I8 1 IO HT § 7

(1) g

(2) T
(3) BF

4) U HEd
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138.

139.

140.

141.

In MS-Word which key combination

is used to make the selected
character superscripted ?

(1) Ctrl + =

(2) Ctrl + Shift + =

(3) Alt+ Ctrl + Shift + =

(4) None of the three

In MS-Excel what do we drag or
double-click for adjustment of the
width of a column ?

(1) Cell pointer

(2) Column marker

(3) Fill handle

(4) Formula bar

Software Requirement Specifications
Document (SRSD) does not include
which of the following ?

(1) Algorithms

Implementation

for Software
(2) Non-Functional Requirements
(3) Functional Requirements

(4) Goals of Implementation

What do a peripheral device generate
if it needs immediate attention from
the operating system ?

(1) Interrupt

(2) Spool

(3) Stack

(4) Page File



142, FHH-1 & & T STERTT # FBEW

143.

144.

145.

Hem-11 5 & 1T STeeren fawer § & :
HiaA-1 HieA-11
i. R a2 wWmEs, died &R
wWEeS U S 2
ii. S g b. | '

BEA B SERE
FH b MU FHE
U HEI

iii. W c.

YIES]
iv. SRR9 d.
A

v. SEAN e.
EIE|
SRR

i-d,
1-e,
i-d,
i-d,

(1)
2)
3)
“4)

HiTeagqy  SSMET W g gRem
frfoiag & @ fres o 788 ?
(1) dideday g

(2) HFedaR BN T: M

(3) Wieda UiHaT

(4) HiHedaX AT

AR ey & w@fFT @ ufkr &
felt QU WY FE T B ?

1i-a,
1i-a,
1i-c,
1i-a,

(1) RAM
(2) fe@n

(3) ROM

(4) 9-Rg

(929.19),,=?

(1) (1640.41), (2) (1641.141),
(3) (1632.141), (4) (1543.34),
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142.

143.

144.

145.

[A]

Match the term in Column-I to its
description in Column-II :

Column-I Column-II
i. Ribbon a. Includes the
Slide, Notes, and
Slide Panes.
ii. Normal b. Displays
view commands  for
managing files.
iii. Current c. The slide you are
slide editing.
iv. Backstage d. A Ribbon tool
view that opens a
dialog box.
v. Dialogbox e. A toolbar that

launcher presents tools in
related groups.

ii-c, 1iv-b, v-e
iv-b, v-d
iv-b, v-e
v-b

(1)
(2)

i-d,
i-e,
(3) i,
4) i,

Which of the following is not
covered by the vital philosophies of
software engineering ?

(1) Software security

(2) Software reuse

(3) Software processes

(4) Software validation

ii-a,
1-a, 1ii-c,
i-c, 1ii-a,

ii-a, 1ii-c, 1v-e,

In process swapping in operating
system, what is the residing location
of swap space ?

(1) RAM

(2) Disk

(3) ROM

(4) On-chip cache

(929.19),,=?
(1) (1640.41), (2) (1641.141),
(3) (1632.141), (4) (1543.34),

P.T.O.
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146.

147.

148.

149.

150.

C 99 ® =X (variable) Fr=faiaa
§ frash @ g& 787 & e § 7
(1) T% ot

(2) T gE&

(3) SETEHR & W@ TF [&ORIY Tl

(4) T G AR TR & Tl
% a9 udiw

B0 § SAffed TR Req @9y
T g T 1101010 & forw ifed
TUHeT T B 7

(1) 125 (2) 137

(3) 152 4) 155
TEHHEE AN iR AR HEY
® I e & 99 H9€g H A AW
far mm ® ?

(1) & (2) B TR

(3) T (4) Tz 9

SR A B e 1 B R o B
H-TT R 7

(1) e §% HE

(2) YC Hehd Bl Iee BT

(3) Th GEAIHs a1 3 &0 § I
HC

(4) T & § B A T

TR eq ®Rd J6e BRME B

gest & FAT & o1ef 91 8 °?

(1) % Ugege o
(2) BEA TR <o
(3) e oifq e=d

(4) ®EW Ugere @5y
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146.

147.

148.

149.

150.

In C program, variable can not start

with :

(1) An alphabet

(2) A number

(3) A special symbol other than
underscore

(4) A number and A special symbol
other than underscore

In Binary to Octal Number System

Conversion, what 1is the octal
equivalent for binary number
1101010 ?

(1) 125 (2) 137

(3) 152 4) 155

Microprocessor memory and other
parts of the microcomputer are
physically connected through which
of the following ?
(1) Route

(3) Path

(2) Cache memory
(4) Address bus

The solitary purpose of NOT gate is
which of the following ?

(1) To stop signal
(2) Invert input signal

(3) Act as a universal gate

(4) None of the three

In context of Operating System File
Management Function what is the
full form of FAT ?

(1) File Attribute Table

(2) File Allocation Table

(3) Format All Tabs

(4) File Attribute Type

Level-3/9221
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